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�-� (service area), 
A= nd: =n. 2R� 

�t � =81m, 
Re =6.4 X 106 m 

= 3.14 X 2 X 6.4 X 106 X 81 m 2
= 3258 X 106 m 2 = 3258 km2 

�of 5 •. 12V � � c1ft � ffi1T cfiT � � � ftm;@ i); UllUl i); � 
� TftlT ti � -ti'ilct,ict, 75%. � +11¥q, � ctft f.tmR � 
fcl;a;ft��? 

� -- ·� Em �'"·-� �i:lcf>lcfi, ma = 

Ee 
��"q;'f�"'fA,Em = ina Ee 
� l ma = 75% = 0.75, 

Ee
= 12V 

Em
= 0.75x 12V= 9 V 

�of 6. � 15.1 �� �cf;)-(+11'%dct,ftm;@qlfaf'Ttl 

m(t)(V):�� J t(;econd)

�15.1 

�Tftlltfcl;�ffillc(t) = 2sin(8nt)V 
(i) . � +1i�d tR1T � '3tlclftid � I

(ii) � -tlilct,ict, �t?

�-(i) � � "q,1 �' fe = ;: = : = 4 

aw:r[iJ-� � ffi 15.2 � � i, 
.......----......---------..-----, 
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co= 2 
m - mo -.!-o 5

a 
- Co - 2 - • 

�al' 7. �+114adcR1Jq;J�'1ntn+JlOVatTI�'1ntn+r2VtlltlJ� 
�. � <Cliicf>icf> µ q;Ji:n;:J��. 
�� ���tn 'ffl +ti'%d--i <Clilcf>icf> cfllltfflll? 

�-� l Emme = 10 V, Emin = 
2 V 

E - E · 10-2 8 2� t-ti:4cfiicfi, ma =
mme mm O 67 "�'' ' '6.. Emme + Emin 10 + 2 = 12 = 3 = • 

� Emin = 0 
Emme - 0 � .... �� ma = E + 0 = 1, ( Emax q, 11A 1R 011"1 � <. )
mme 

�al' 8. ����AMtR"flcl>TWcm�tJP«f�tft�ft;mul'fffli, 
�lnift�tR����ctft��i.��fcl;� 
q;)"( � � � {ff \ill � �41.-lffi ctft 1JU1T � � ffl lnift � lR 
+tl�cf> � ctft 1FJ:Ulf?a ��I 

�-1:JAT�� ,ee = Ee 
cos W

e
t ... (1)

� � � ftrr-:@ qij ��Wm m, "ffi JfflUT � Tf"lrr ·ftrr-:@ mTJT
e

r =, E r 
cos (we 

+W
m

) t ... (2) 
ftq}cfi(Oj (1) q (2) "cfiT � � °tR, 

e = E e Er cos W
e 

t cos (w
e

+ W
m

) t 
� . 2 cos A cos B = cos (A + B) + cos (A - B) 'cfiT >fl11lT � -qt, 

E E  e = T [cos (2w
e 

+w
m

) t+ cos W
m 

t]

� � ftrr-:@ q;) �-� � (low pass filter)· it it � �, m � �
(2we 

+ Wm
) 'cfiT ftrr-:@ ��ti�� W

m 
� 'cfiT ftrr-:@ m �I

am:���, e
m 

= 
E e 

2
E r 

cos W
m 

tJlllij m �,
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